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Figure B1-1:  Negative log-likelihood 
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Figure B1-1.1:  Negative log-likelihood profile combined 
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Figure B1-2.  Change in Parameter value in different M
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Figure B1-3.  Change of MMB  projection in different M 
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Figure B1-4. Change of MMB  projection in different M combined
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Figure B1-5. Change of selectivities and molting probability in different M (combined)
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Figure B1-6. Change of molting probability in different M 
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Figure B1-7.  Change of NMFS trawl survey selectivity in different M 
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Figure  B1-8: Change of ADF&G trawl survey selectivity in different M
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Figure B1-9: Change of Winter pot survey selectivity in different M
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Figure B1-10: Change of 1977-92 commercial catch selectivity in different M
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Figure B1-11: Change of 1993-2014 commercial catch selectivity in different M
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